

**Create Event Design** 10621 Midway Ave. Cerritos, CA 90703 (562) 474-8222

03/06/2023 09:00 AM | Install - Day 1 (Staging/Rails/Wall Graphics) 03/06/2023 09:00 AM | Install - Day 2 (Furniture/Wall Graphics) 03/06/2023 09:00 AM | Install - Day 3 (If needed) 03/13/2023 09:00 AM | Strike - Day 1 (Furniture) 03/13/2023 09:00 AM | Strike - Day 2 (Staging/Rails/All Else) PO: SoFi - Billy Joel Setup Shipping Address: Sofi Stadium: 1001 Stadium Dr, Inglewood, CA 90301

## ORDER #003325

Wife of the Party Inc. 318 S Date Ave Alhambra, CA 91803

Order Date: February 23, 2023 Due Date: Upon Receipt

Description		Qtty	Price		Total
General					
	ADA Lift	2	\$1,550.00	Т	\$3,100.00
			Total Gen	eral	\$3,100.00
Decals					
	Wall Graphic	1	\$790.50	Т	\$790.50
	Wall Graphic, Pillars 37.5 sf	2	\$225.00	Т	\$450.00
	Wall Graphic, 120 sf	1	\$720.00	Т	\$720.00
	Wall Graphic, 8' x 8' Outside of Bootsy Suite	1	\$448.00	Т	\$448.00
			Total Decals		\$2,408.50
SoFi Social					
	Wilshire Sofa, 8ft	5	\$350.00	Т	\$1,750.00
	Ava Sofa, Emerald Green 8ft	3	\$350.00	Т	\$1,050.00
	Vida Coffee Table, Rectangle	8	\$110.00	Т	\$880.00
	Bench, Blush Pink	9	\$125.00	Т	\$1,125.00
	Celine Ottoman, Blush Pink	2	\$45.00	Т	\$90.00
	Stage, 4' x 8' x 1'h	34	\$75.00	Т	\$2,550.00

Description		Qtty	Price		Total
	Stage, 2' x 8' x 1'h	3	\$50.00	Т	\$150.00
	Guard Rail, 4'	8	\$17.50	Т	\$140.00
	Guard Rail, 3'	4	\$17.50	Т	\$70.00
	Guard Rail, 2'	5	\$15.00	Т	\$75.00
	Black Carpet, 1410/sf	1	\$2,749.50	Т	\$2,749.50
			Total SoFi So	cial	\$10,629.50
1E-3, 1E-4, 1E-5					
	Stage, 4' x 8'	7	\$75.00	Т	\$525.00
	Stage, 2' x 8' x 1'h	7	\$50.00	Т	\$350.00
	Stage, 2' x 4'	1	\$50.00	Т	\$50.00
	Stage, 2' x 3'	1	\$50.00	Т	\$50.00
	Guard Rail, 4'	7	\$17.50	Т	\$122.50
	Guard Rail, 3'	3	\$17.50	Т	\$52.50
	Guard Rail, 2'	4	\$15.00	Т	\$60.00
	Black Carpet, 58' x 7'	1	\$791.70	Т	\$791.70
	Black Linen, 120" Rnd For Existing High Boys	10	\$28.50	Т	\$285.00
		Тс	otal 1E-3, 1E-4, 1	E-5	\$2,286.70
1E-6, 1E-7					
	Stage, 4' x 8'	4	\$75.00	Т	\$300.00
	Stage, 3' x 8'	4	\$50.00	Т	\$200.00
	Black Carpet, 32' x 7'	1	\$436.80	Т	\$436.80
	Guard Rail, 4'	5	\$17.50	Т	\$87.50
	Guard Rail, 2'	2	\$15.00	Т	\$30.00
			Total 1E-6, 1	E-7	\$1,054.30
Pechanga Club					
	Stage, 4' x 8' x 1'h	34	\$75.00	Т	\$2,550.00
	Stage, 2' x 8' x 1'h	2	\$50.00	Т	\$100.00
	Guard Rail, 4'	8	\$17.50	Т	\$140.00
		0	Q17.00	•	Q1 10.00

escription		Qtty	Price		Total
	Guard Rail, 2'	5	\$15.00	Т	\$75.00
	Black Carpet, 1410/sf	1	\$2,749.50	Т	\$2,749.5
	Olafur Sofa, Black	2	\$350.00	Т	\$700.0
	Black Olafur Sectional - LAF, 8ft	3	\$550.00	Т	\$1,650.00
	Black Olafur Sectional - RAF, 8ft	3	\$550.00	Т	\$1,650.0
	Ottoman, Black	21	\$45.00	Т	\$945.0
	Parson Side Table, White	17	\$30.00	Т	\$510.0
			Total Pechanga C	lub	\$11,139.50
W-3, 1W-4, 1	W-5				
	Stage, 4' x 8' x 1'h	7	\$75.00	Т	\$525.00
	Stage, 2' x 8' x 1'h	7	\$50.00	Т	\$350.0
	Stage, 2' x 4' x 1'h	1	\$50.00	Т	\$50.0
	Stage, 2' x 3' x 1'h	1	\$50.00	Т	\$50.0
	Guard Rail, 4'	7	\$17.50	Т	\$122.5
	Guard Rail, 3'	3	\$17.50	Т	\$52.5
	Guard Rail, 2'	4	\$15.00	Т	\$60.0
	Black Carpet, 58' x 7'	1	\$791.70	Т	\$791.7
		То	tal 1W-3, 1W-4, 1V	V-5	\$2,001.70
W-6, 1W-7					
	Stage, 4' x 8' x 1'h	4	\$75.00	Т	\$300.0
	Stage, 3' x 8' x 1'h	4	\$50.00	Т	\$200.0
	Black Carpet, 7' x 32'	1	\$436.80	Т	\$436.8
	Guard Rail, 4'	5	\$17.50	Т	\$87.5
	Guard Rail, 2'	2	\$15.00	Т	\$30.0
			Total 1W-6, 1V	N-7	\$1,054.30
ervices					
	Trucking Fee	5	\$275.00		\$1,375.0
	Install Fee (Day 1)	8	\$330.00		\$2,640.0
	Install Fee (Day 2)	6	\$240.00		\$1,440.00

Description	Qtty	Price	Total
Install Fee (Day 3) - ** If Needed **	4	\$180.00	\$720.00
Strike Fee (Monday)	6	\$180.00	\$1,080.00
Strike Fee (Tuesday)	8	\$240.00	\$1,920.00
1.5% WC Fee	1	\$690.73	\$690.73

Notes

Total Products:	\$33,674.50
Total Labor/Services/Misc:	\$9,865.73
Taxes :	\$3,199.08
Discounts:	(\$0.00)
Total:	\$46,739.31
Payments:	(\$0.00)
Balance:	\$46,739.31